0

' E—‘# H—i_:ﬂ ; SEATNOue - No. of Printed Pages : 9
’ E.'ﬂj A SRR e e e pamt pmemsind] P . oo
SARDAR PATEL UNIVERSITY
B.S¢. Sem.- IIT EXAMINATION NOVEMBER-2018 -
COURSE CODE: US03CCHED]
SUBJECT: ORGANIC CHEMISTRY .
Date: 20/11/2018 : Time: 62,00 P.M. to 05.00 P.M.
Day: Tuesday . * Total Marks: 70

Note: (i) All questions are to be attempted,

~ (ii) Figures to the right indicate marks.
Q.1 Choose the correct option for the following, (10)
(i) Which of the following compounds wil be optically active? B

(a) 3-Chloropropanoic acid (b) 2-Chloropropanoic acid (¢} 3-Chloropropene

{d) Propanoic acid '
(ii) How many optical isomers are possible for 2,3 dibromo pentane ?

@2 )8 ()4 ()6 ~ '
(iii) Which of the following compounds will react fastest with Lucas reagent?

(a) 2-methyl-1-propanol (b} 1-propanol (c) 2-methyl-2-propanol {d) 'Z-propanol

(iv) Ethyl bromide react with sodium methoxide to form -
(2) Dimethyl ether (b) n-Propyl aicohol (c) Diethyl ether (d) Ethy} methyl ether
(v) Ethanol on heating with concentrated H280, at 170°C gives
() Diethyl ether (b) Ethylene (c) Diethyl suiphate (d) Ethjf_l hydrogen sulphate
(vi) Which of the following reagents will react readily with both aldehyde and ketone?
(a) Grignard reagent (b) Tollen’s reagent (c) Fehling solution (d) Schiffs reagent
(vii) Acetone undergoes reduction with anHg (zine amalgam ) in HCI to form propane,
' This reaction known as..... : '
(a) Wolf-Kishner reduction (b) Aldol condensation
-(¢) Rosenmund reduction (d) Clemmensen reduction
(viii) Which of the following compound is a tertiary amine?
(a) CH5-CH,-NH-CH; (b) (CH3)3N (C) HuN-CH,-CH,-NH, (d) CH;-CH(NH,)-CH;
(ix) Which of the following reagents will convert acetic acid to acetyl chloride?
(@) HCl  (b) NaCl (c) SOCY, (d) HCVZnCH,
(x) Phenol is acidic because of .... ‘ ' o
(a) Peroxide effect () Inductive effect (c) Hydrogen bonding (d) Resonance
Q.2 Answer the following.(Any ten) S T
{i) Explain specific rotation. s g
(ii) Write a note on Meso compounds,
(iif) Give mechanism of acid-catalysed cleavage of epoxide.
(iv) How can you distinguish 1°, 22 and 3° amines,
(v) Acetic acid is exist as a dimer, Explain
(vi). Give synthesis and uses of ethylene glycol. o C
(vii) The priority order of the group is ~-CN > -CHO > -CH(CHa),, Explain
(viii) Give synthesis of sec.butyl alcohol froin ethanol.
- (ix) Which of the following compounds give positive iodoform test, Why?
(a) 2-pentanol (b} Methanol (¢) t-butyl alcohol (d) isopropyl alcohol
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(x) Giire the _s_ynthesis of 1,2,3 tribromo benzene from p-nitro aniline.
(xi) o-Nitro phenol is less water soluble than p-Nitro phenol.Explain.
(xii) a-Chlorobatyric acid is stronger acid than B-chlorobutyric acid. Explain

Q.-3 Draw and discuss ali possible conformational isomers of Cyclohexane with
potential energy diagram and arrange them in increasing order of stability
and also discuss the factor affecting stability of conformation.

| — ‘

Q.-3 Draw and discuss all possible conformational isomers of n-butane with
potential energy diagram and arrange them in increasing order of stability
and also discuss the factor affecting stability of conformation. |

 Q.-4 Answer the following.

(a) Draw the possible isomeric structures of alcohols having molecular formula C4Hz0.

Also write FTUPAC name and classify them 1°,2° and3°alcohol.
(b) Give the synthesis of Glycerol from propene via chloro hydrin formation.
(c) Explain oxidation of alcohol.
. OR
Q.-4 Answer the following.
(a) Explain classification of alcohol

(10)

(10)

(04)
(03)
03)

(04)

(b) Justify: HIO, is a powerful tool for the structure determination of polyhydroxy alcohol.(03)

(c) Give reactions of glycerol with (i) PCls (ii) nitric acid -

Q.-5 Answer the following.
(a) Explain aldol condensation with mechanism.
(b) Write.a note on iodoform test. '

(¢) Explain effect of substitution on basicity of aromatic amines.

OR
Q.-5 Answer the following. o
(a) What is hemiacetal? Give detail stepwise mechanism for the acetal
formation. -

(b) Give synthesis of m-bromotoluene from toluene.

(¢) Write anote on reductive amination.

Q.-6 Answer the following, : ‘
(a) What is trausesterification? Give mechanism of acid catalyzed
transesterification. . ‘ ‘
(b) Give synthesis of 5-methyl 2-hexanone from ethyl aceto acetate.
(c) Explain Phenol is more acidic than alcohol.
. . . OR
Q.-6 Answer the following. .
(a) Give detail stepwise mechanism of rearrangement of cumene
hydroperoxide.
(b) Explain Reimer-Tiemann reaction with mechanism.
(¢) Explain Reformatsky reaction with mechanism.
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